
[mac Homeworks] ./paging-linear-translate.py -s 25 -p 128k 
ARG seed 25
ARG address space size 16k
ARG phys mem size 128k
ARG page size 4k

Page Table (VPN : PFN)
       0 - not valid
       1 - 26
       2 - not valid
       3 - 20

Virtual Address Trace
  VA  0: 0x000002b6 (decimal:      694) --> PA or invalid address?
  VA  1: 0x00003cfd (decimal:    15613) --> PA or invalid address?
  VA  2: 0x0000105d (decimal:     4189) --> PA or invalid address?

For each virtual address, write down the physical address it translates to
OR write down that it is an out-of-bounds address (e.g., segfault).


